Answers

N Northern freland 2006 (1
g Wy Curriculum (1)

Progress tracking assessment module

Name
Class

Date




o

lethal weapon
- Accept: a lethal weapon

,: he is known to v
make up information

worried
accident
sight
avoided
alone

Wisely, he did not say so.

Accept: - Wisely, he did not say so.)
- (Wisely, he did not say so.)
- Wisely, he did not say.

because the writer wants to include some extra information

11

In

All 5 correct for 3n
Any 3 or 4 correct for 2n
Any 2 correct for In

I

Im

Walking towards the dog, Jack asked, “What’s your name?” He wondered if it might be called

Fido, Rover or Max.

7 capital letters
1 full stop

I question mark
I apostrophe

2 speech marks
3 commas

Do not accepi:

- Fido, Rover, or Max.
-Jack asked: “What's ..

All correct for 3m
I or 2 errors only for 2m
3 or 4 errors only for Im

et 1 2000



f3 - find his friend
lower himself into
branch
quickly

frg D

Tom found it worrying. E

All 4 correct for
Any 3 correct for

HEN

i5 He felt tense and nervous. Z’

lb sheepishly

70

He saw something or 7
someone in the cave. 15

,5 . True False

All 4 correct for 2n.
Any 3 correct for 1n;

Ed
[

[q 9S (minutes) 11

Supplomentry best 200



2 6 scalene* | Always has a 90° angle.

right angle Has 2 equal sides.

All angles are 60°.

equilateral \
Has 3 unequal sides.

isosceles

All 4 correct for In

29 @

two tenths v
(b)
six hundredths | v l: Both correct for 1m
0 a magazine v
Im
- .
31 . It will make the reader %
want to eat chocolate.
Im
32 True False
v
v
v
All 4 correct for 2m
_i Any 3 correct for Im




the effect the music [
has on the people.

,l“ . to show life has J/
returned to normal

L2 True  False
v
v
v
v
b L{S 195em |V

vl (a) She had to pay £ 12.70

Do not accept; £12.7

(b) She had to pay 12 pounds and
Accept: hwelve/seventy
Do not accept: £12

w5 13 (and) 17 (in either order)
7 (and) 23 (in either order)

(£) 302.50
Yo po not accept: (£) 302.5

oy

70

I

Im

All 4 correct for 2m
Any 3 correct for Im

pence.

Both (a) and (b) correct for Im

Both pairs correct for 2m
Either pair correct for Im

Im

I

1n



56

37

1%

o

q

(£) 0.70

Do not accept (£)0.70p or 70p

lm

lan

Billy T

Rob

All 3 correct for Im

Accept:

2202 mm

2.2 metres ‘

202 cm

(date)

27 May

(time)

1140

Both correct for Im

Accept: 27th and 11 40 (am)

Do not accept: 26 May and 11 40)

16
Accept 16°

Do not accept 622

Madrid

Accept: 1140 am

Im

I

Prime Square Multiple of 5
Factor of 15 3 (15)
Even 2 4 16 20 All 5 correct for 2m
Any 4 correct for Im
Class2 | v/
I'm
40.36 f"n.
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2006 (2)

Progress tracking assessment-module

Name
Class

Date




1. 92 (days)

2. 45()
3. (£)1.24
4. (£) 1.88

5. 14.3 (metres)

6. 25.7 (metres)

Accept: 25.70) (metres)

7. Net A is the net of a

Net __ € is the net of a pyramid.

Net D is the net of a cube
8. Net C
Net E
9. 97  ,(99).(102), (106), (111), (117). 124
10. (17). (33). 65 | 257

11. 114 (metres)

cylinder

Vi

1r

11

1

1

11

All 3 correct for 1i

Both correct and no others ticked for 1y

Both correct for 1

All 3 correct for 2

Any 2 correct for 1i

11

Tvst 2 2



i8.

19.

20.

21,

22.

23.

24.

Faet Opinion
v
] ¥
v
v
v
conical

Do not accept: teni-like

Plains

bind

Do not 1ccept. fix
herds

experienced
streets
cold weather

to convey how
bitterly cold he felt

the cars’ lights

to describe the way that

the cars can seem like ammals

L]

All' S correct for .
Anv 3 or 4 correct for .

All 3 correct for :
Anv 2 correct for

b

[

All 3 correct for
Any 2 correct for

[



1,

I ]

Number of people
Time of day | who have returned
books

9-10 am

10-11am

11-12 noon

12 noon-1pm

1-2pm

2-3pm

3-4pm

54 + 27

9% 9 v

NEl

6.4 (cm)
Accept 6% (cm) or equivalent fraction

(£) 0.60
Do not accept 60p

(£) 7.50
Do not accept £7.5

125 ()

(£) 8.60
Do not accept (£) 8.6

(£) 1.06

Im

All 3 correct and no others ticked Jor 2m
Any 2 correct and no others ticked for 1m

Im

Im

Im

Im

Im

[



*-:-,T yes no
@
10 | ¢
19 /]
% (7] []
Oy
®
Is it an odd number? i
Is 1t a multiple of 7? v
%
61.7 % 100
62.1 x 100 7
lﬁ]. " True False
v
Ve
v
v

15

Daniel’s pet v

yes

no

All 5 correct for Im

Both correct and no others ticked for Im

Both correct for Im

All 4 correct for 2m
Any 3 correct for Im

I



b - observant v
persistent v
thorough v
—— > d All 4 correct for 2m
alert Any 3 correct for Im
;] True False
v
v
] /
All 4 correct for 2m
v y
Any 3 correct for Im
R .. (he’s) twigged the fact . Im
T - motionless designed All 4 correct for 2m
offers rooting Any 2 or 3 correct for Im
Do not accept: strip-searching
B .. adjective noun
bright brightness _ (given)
dark —darkness
hot heat
All 3 correct for 2m
warm warmth Any 2 correct for Im
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